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1,000 m 241 99 67 34 17 10
2,000 m 409 188 110 60 29 17
4.000 m 630 365 168 112 46 31
8.000 m 1,067 720 289 216 80 59
16.000 m 1,828 1,431 506 424 140 115
=S 300 m 99 25 16 9 6 4
500 m 116 34 19 11 6 4
1,000 m 156 56 25 16 7 5
2,000 m 237 101 39 27 10 7
4,000 m 399 191 66 48 17 12
8,000 m 723 370 120 90 29 20
16,000 m 1,372 729 229 175 54 38
32,000 m 2,669 1,446 446 344 102 72
40,000 m 3,317 1,804 555 429 127 90
A=S 5,000 m? 85 26 17 11 6 4
10,000 m? 93 31 18 12 6 4
30,000 m? 148 66 29 21 10 7
50,000 m? 205 102 39 29 14 9
100,000 m? 347 193 65 50 24 15
SHOH A F Al S 1 oA 206 103 53 34 21 16
QA& 1 A 182 90 46 30 19 15
(IR, DRI,
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1 A 425 244 70 37

1,000 m 60 17 11 8 6

2,000 m 74 25 14 10 7 5
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2 1 A 51 17 14 10 6 4
BT & 100 HP 49 14 14 9 5 3
500 HP 56 18 16 10 6 4
1,000 HP 65 24 17 11 6 4
2,000 HP 82 34 20 13 7 4
5,000 HP 135 66 31 21 9 6
FE|C s 1,000 m 78 16 10 6 5 3
2,000 m 92 24 13 8 5 3
4,000 m 115 38 17 11 6 4
10,000 m 188 80 29 22 7 5
30,000 m 434 223 71 57 10 7
50,000 m 681 366 113 91 15 10
100,000 m 1,293 722 216 178 26 18
HOFHL2E 1 KA 52 17 13 8 4
2 WA 65 25 15 10 6
3 A 77 33 18 12 7
4 A 90 41 20 14 8
RS, 10 m/ 66 18 14 8 6 4
50t m¥/ 79 26 16 10 6 4
108 m/« 93 35 18 11 7 5
209t mé/« 122 54 23 15 9 6
409t m*/« 181 92 33 23 13 8
SEH IR 10t m¥/Y 46 12 13 8 5 3
58t m3/« 51 15 13 8 5 3
108 m3/« 56 18 15 9 6 4
209t m¥/« 66 24 17 11 6 4
508t m¥/« 97 43 23 15 9 5
2,000 m® 46 12 12 8 5 3
5,000 m® 51 15 12 8 5 3
10,000 m® 58 19 14 10 6 4
30,000m® 85 35 18 13 8 5
50,000m? 113 51 24 18 10 6
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wek 50 m 86 16 110 16 57 10
100 m 94 20 119 | 20 61 12
300 m 128 38 155 38 1 20
500 m 162 56 190 | 57 94 29
1,000 m 246 100 280 101 135 50
2,000 m 416 191 459 191 217 93
4.000 m 639 370 682 370 320 178
8.000 m 1,081 729 1,131 730 530 350
16.000 m | 1.851 | 1.449 | 1,902 | 1,449 | 896 | 694
BHe 300 m 103 26 130 26 64 13
500 m 120 35 148 35 73 17
1,000 m 160 57 190 57 91 27
2,000 m 240 101 274 102 128 46
4,000 m 403 192 444 192 201 84
8,000 m 27 371 783 371 348 161
16,000 m | 1,375 | 729 | 1,462 | 730 | 642 | 314
32,000 m | 2,672 | 1.446 | 2,820 | 1,447 | 1,230 | 621
40,000 m 3,321 1,805 3,499 | 1,805 | 1,524 774
A=Z2 (SEFEAY 5,000 m? 87 26 11 28 58 14
10,000 m? 96 31 120 33 62 17
30,000 m? 1562 67 178 68 90 35
50,000 m? 207 102 238 105 118 52
100,000 m? | 349 194 | 387 | 196 | 190 | 98
SEHAIFAIE T IR 228 118 265 123 131 61
= T IOHA 569 228 672 237 271 90
ot = T IOHA 432 247 510 269 248 133
CEINET 1,000 m 62 17 78 8 41 K
2,000 m 14 26 93 26 49 15
4,000 m 105 41 125 42 63 22
=5 T IR 54 18 72 22 39 13
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3. M2&ds8ot
e Y(DBIIEK)
NIEESSEE= DL
HUOINEAS | HUNMEY
T A= LEE HS  |ZDE Y ZR

| Qg | ®M | Y | ®M | g

wek 50 m 35 10 42 11 25 6
100 m 38 11 45 12 27 7

300 m 46 16 55 17 32 10

500 m 55 21 65 22 37 12

1,000 m 81 35 92 35 51 19

2,000 m 127 61 143 61 76 31

4.000 m 185 113 201 113 104 57

8.000 m 309 217 328 217 168 108

16.000 m 526 424 548 425 276 211

Gl 300 m 20 9 24 10 14 6
500 m 23 11 27 12 15 6

1,000 m 31 17 34 17 18 8

2,000 m 44 27 49 28 24 12

4,000 m 74 49 80 49 40 22

8,000 m 131 90 140 | of 67 39

16,000 m 249 176 262 176 124 75
32,000 m 481 345 | 505 | 345 | 234 | 144
40,000 m 597 430 627 430 291 180

A=E (SEEAM 5,000 m? 22 12 24 12 13 6
10,000 m? 21 12 25 13 14 7

30,000 m? 33 21 38 23 21 12

50,000 m? 44 30 49 31 26 16

100,000 m? 71 51 14 52 40 26

sk | HIFAIE T IOHA 65 36 1 41 43 22
= T IR 123 51 156 54 7 23
ot = T IOHA 89 40 101 40 55 21
otd | ME 1,000 m 13 8 15 9 9 5
2,000 m 8 1 19 11 1 6

4,000 m 24 16 26 16 15 9

=2 1T IOHA 19 12 22 13 14 9
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